ST.GEORGE’S SCHOOL, ALAKNANDA
MID TERM EXAMINATION 2016-17 . m/
SUBJECT: MATHEMATICS V.
CLASS:XII

MAX. MARKS: 100

DATE : 2 S 1& .
NO. OF PAGES:2

MAX TIME :3 HRS
Section A: Q1 to O4 one mark each , Section B: Q5 o Q12 two marks each
Section C: Q13 to Q23 four marks each, Section D: 24 10 Q29 six marks each

~ SECTION:A

3
Q}df/j-_—L] and B=f+2 -1 4]then what is the order of AB ?
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&Aﬁhﬂ:k if the operation *: = R — Rgiven by a* b = a + 2b is commutative or not?
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\Qﬁ?indﬂw arder and degree of differential equation: ji_'r’ +H,.,|"}r ] -0

\j/ﬂlﬁw that the function f{(z) =|x=3 , xe ® is not differentiable at x=3
ider the binary operation ® on the set {1.2,3,4.5] defined by a®*b=HCF of a and b. Write the

operation table of the operation *
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\9“,/]1‘,,4 n[z ;],&ld ‘x" and vy’ such that A" — x4 + yf =0\ where 'x" and 'y" are non zero scalars,
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;)4./|ftu"a+taﬂ45+tm"c=.r then prove that a+ b+ c = abe
i #5(3)
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If y=x", then prove tha "‘%-H[E] -==0
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w{. Form the differential equation of the ﬁl.lﬁifjl of ellipses having foci on y-axis and center at the origin,
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\92{\1’#1[}' LMVT for the function f{x}=x+'—£ in 1,31

\9:( Show that the relation R on the set
A= |xeZ:0<x<12}, given by R={{a,b) :k—-!:| is o multiple of 4} is an equivalence relation.
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Eff«t. in a survey of 20 richest persons of three residential society A,B,C il is found that in society A5 believe
in honesty, 10-in-hardwork and 5 in unfair means while in B. S believe in honesty. 8 in hardwork and
7_in unfair means and in C, 6 believe in honcsty, 8 in hardwork and 6 in unfair means. If the per day
income of 20 richest persoms of society A,B and C are Rs.32.500. R.30,500-, Rs.31,000 respectively.
then find the per day | of each type of people by matrix method, 4§ Which type of person has

more per day income 7 ;E] According to you. which type of person is better for country 7
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. If the length of three sides of trapezium other than base is equal to 10cm, then find the arca of the
trapezium when it is maximum,
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i.b-H.' cta a+h
Q2 Ifab,carereal numbersand 4 - s g g+bh b+l =0 show that either
|:+Er b+c :+ai

+b+c=00or ash=c

(39. Using integration, find the area enclosed between the two circles x* +3° =9 and (x -3 + " =9
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